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{ INSTRUCTIONS

1. Please correctly fill your Roll Number in C.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roli No. _

2. Atthe start of the examination before attempting the question
paper kindly check your question booklet and OMR Answer
Sheet and ensure that :

* The serial numbers of question booklet and OMR answer
sheet are same.

*  All pages of question booklet and OMR answer sheet are
properly printed. All questions from S.No. 1 to last S.No.
156 are printed and pages from S.MNo. 1 to last S. No. 16
are there in the question booklet.

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of question booklet and OMR answer sheet. No claim / objection
in this regard will be entertained afier five minutes of start of
examination. Candidate will be liable for it.

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated

as Wrong answer.

Each question has four alternative responses marked serially

as {A), (8), (T), (D). You have to darken only one circle or

bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN,

8. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an incorrect
answer or more than one answers for any question).

Use of Mobile Phone/Bluetooth Devices or any other
clectronic gadget in the examination hall is strictly

- prohibited. if any such prohibited material found with any

candidate, strict action will be taken against him/her as per

rule.

If there is any sort of ambiguity/mistake either of printing

or factual nature in Hindi and English Version of the

guestion, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his’her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to
be prosecuted under Section 3 of the State Prevention of Unfair
means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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Rohil is an important site for -
(A) Thorium

(B) Uranium

(C) Lithium

(D) Zirconium

e ww weaqel & § -
(A) gifeaw & fag

(B) g & frg

(© folmm % fag

(D) wRibrY % T

Who inaugurated United Rajasthan on April 18
19487

(A) Vallabhbhai Patel

(B) Rajgopalachari

(C) V. P Menon

(D) Jawaharlal Nehru

18 1w, 1948 W U TSRUM &1 I Reas
T 7

(A) TwTHATE TeH
(B) TwFITTET
(©) 4. 9. &
(D) AR WEE

b}

W%@mﬁmmwmwﬁmmﬁ
&

(A) gebrdr
(C) Jrepray

(B) e
(D) s

As per the census 2011, the number of districts in
Rajasthan where percentage decadal change in
population during the decade 2001-11 remained more
than the average percentage decadal change in the
state, is -

T 2011 I TTOFIAR TR ¥ Relt 2 v,
SR SEEn ¥ 2001-11 % @oe § yRive suwe
s, T 1 sirea frem awer gfs & arftrs <,
T -

(A) 14 (B) 15

) 16 )y 17

e G O auher § feut ¥ g @ s
BT

(A) FrEweE EiEl o e ¥

(B) orEeEr @Y 9T ErETERE X

(C©) orewRTE WiEl o dvEme it ¥

(D) orEeeE @il &1t SRR

6

i6
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Which is the first Conservation Reserve for Bears in
Rajasthan?

(&) Sundhamata

(B) Gogelav

(C) Shakambari

(D) Gudha Vishnoiyan

TORAT ATl w1 oswn Wi &5 @ ar ¥
(A) gummar

(B) "irtem

(©) el

(D) Tor Fsgam

What was the population density recorded in
Rajasthan in 2011 Census?

(A) 165 persons per sq. km

(B) 200 persons per sq. km

(C) 324 persons per sq. km

(D) 382 persons per sq. km

2011 %I SO % ST, S ¥ STEE T
(A) 165 =l wiy & ey

(B) 200 =afm ufy =i ey

(C) 324 =fry gy = fpdy

(D) 382 =ufery wfey =i Ry

TSI Tfee ¥ arfester 71 39 &6 T T 2
(A) o (B) wTula wee
(C) srarEa (D) R =

Where is Bhramar (Bhanwar) Mata temple located?
(A) Abhaneri (B) Jagat

©) Sglumber (D) Chhoti Sadari

Y (He) WA 61 whER wet Reg ¥ 7

(A) STHTER (B)

(©) wg=T (D) BT gEs

The blue pottery art of -
Rajasthan.

(A) Kishangarh (B) Balotara

(C) Akola (D) Jaipur
TR % & Uil o wal @ gfag &7
(A) TpsmmTe (B) sl

(C) T (D) wEgR

is famous in

'Nevri' is worn on which part of body?
(A) In Hands (B) In Neck

(C©) In Legs (D) In Waist
Fal TR & e of ¥ wel Wy &7
(A) Bt o B) ™H

©) T (D) B §

[ Contd...

12 The highest area in percentage of the Banganga river | 18
basin lies in the district of Rajasthan.
(A) Bharatpur (B) Dausa
(C) Alwar (D} Jaipur
TR % R o sk WS SR @
weties gfasa W Rug ¥
(A) wagy (B) e
(C) &way (D) syl

13 el g u orpardl Ae YEEAr Tor § 7
(4) g by
(B) fawig dy
(C) W Uy ;9
(D) T&s 9

14  Where is the famous gold and silver haveli located
in Rajasthan? 20
(A) Laxmangarh (Sikar)

(B) Pokhran (Jaisalmer)

(C) Bisau (Jhunjhunu)

(D) MWahansar (Jhunjhunu)

TR ¥ URTE 9 - 9ier @ e wel jad § 7
(A) werTe (HeT)

(B) U0 (SrEET)

(©) R ()

(D) wETal (D)

15 The major part of Rajasthan lies in the relief range 21
of  to __ meters above mean sea level.
TSR 1 STIUhIYT STaraed 9 3iea O ad o
O w hrer Ea @ 9o o e ®
(A) 250 - 300 (B) 200 - 250
(C) 450 - 500 (D) 150 - 200

16 The fair of Bharthari is held in which district of
Rajasthan?

(A) Sikar (B) Alwar
(C) Bundi (D) Udaipur 22
TeEll &1 e e & fhw foe § wwan ¥ 7
(A) W (B) @@y
© @ (D) TEYT
17  From which lake 'Kharwal' tribe produces salt?
(A) Lunkaransar (B) Pachpadra
(C) Didwana () Degana
WRE ST DI W A o THD Sl
FH &7
(A) TOTHTUET (B) wEUEq
(C) rsar (D) T
P51 @ 3

Who was the leader of Barad Peasant Movement of
Bundi State?

{A) Ram Marayan Chaudhary

(B) Swami Gopal Das

(C) Mayanu Ram Sharma

() Vijay Singh Pathik

& Frare & 91 fear orelE @1 A B 917
(A) TEETTCREeT Grerd

(B) wrdl WU T

(C) O g™l

(D) Ty oiies

ol Tl O suEer ¥ -

(a) drodr B) AT
(C) Tear) (D) TESEr

Due to whose efforts Dungarpur Prajamandal was
established?

(A) Chunnilal Prabhakar

(B) Krishnaduit Paliwal

(C) Bhogilal Pandya

(I2) Gokulbhai Bhatt

STRYY USEOSH S wio fhees gerEl ¥ g NP
(A) T YHEHT

(B) $UEH UTWIET

(C) Wi g5

(D) g 9E

V.S. Lignite Thermal Power Station is located at
~__in Bikaner.

(A) Beethnok (B) Barsinghsar

(C) Gurha (3) Palana

g e o9 ool Ry dert ¥ W
flaa %1

(A) e

© =

(B) axhdEex
(D) qET

The first World Natural Heritage status was given
by UNESCO to  in 1985 in Rajasthan.

(A) Ranthambhore National Park

(B) National Desert Sanctuary

(C) Darrah Sanctuary

(D) Keoladev National Park

T 1985 ¥ el B G URe @
fva wrplos e gE H aiEia e
(A) oreEit v SEm

(B) U wE STHATY

(C) T e

(D) hadEe TR S




23 Which place of Rajasthan is famous for Tarkashi of
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silver jewellery?
(A) Pratapgarh (B) Nathdwara
(C) Khandela (D) lJalore

TIET % Ty @ areessht & e T @
B T W e ¥?
(A) JarTE
(©) @an

(B) WUET
(D) WX

Choose the group which contains the names of
all the cities where observatories are built by
Sawai Jaisingh.

(A) Jaipur, Ujjain, Delhi, Agra

(B) Jaipur, Delhi, Mathura, Allahabad
(C) Jaipur, Mathura, Allahabad, Agra
(D) Mathura, Ujjain, Delhi, Banaras
9 ag=E B giTg e ol et ¥ gl sl
ERUCE RIS G

(A) sEYR, 3%, feel, smra
(B) SR, fawell, WY, TORMETR
(C) wEYR, 9y, TABERE, ST
(D) =Y, IwoF, Rel, s

'Lasadiya Plateau’ is situated in which district of
Rajasthan?

(A) Rajsamand (B) Sirohi

(C) Banswara (D) Udaipur

I TN TRAN e forer & Reg 27
(A) TeTEHg (B)

(C) wrgamsT (D) SR

The first Rajasthani to be awarded Paramveer Chakra
was?

(A) Shaitan Singh (B) Peeru Singh

(C) Virendra Singh (D) Hawa Singh

THER T & W E A wem Trerareh o 7
(A) g fis (B) dre fie

(C) @ fue (D) &1 e

Who rebuilt the broken part of the Kirti Stambh
(Vijay Stambh)?

(A) Rana Sanga

(B) Rana Swaroopsingh

(C) Rana Rajsingh

(D) Rana Jagatsingh

Bt wew (e &) & 2 gu W @t g
e weamn?

(A) Tom |

(B) N Ui

(C) W TwIfE

(D) T SEARHE

28

28
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TN B WX G Agars s g
i) ?

(A) TFET g
(©) pur fafea

(B) €T Wy
(D) 9. THepel srrE

The excavation work of Ahar civilization was first
done in 1953 under whose direction?

(A) Gregry Poshal

(B) Ratan Chand Agarwal

©) Amfanand Ghosh

) Akshyakirti Vyas

MRS G &1 IagT7 B 1953 ¥ wduew fegs
e & gam ar?

(A) Y gt

(B) @9 I Y

(C) AR Hr

(D) afa%aﬁi%% 3]

Where [S located the 'Bala Kila' destination in
Ragasﬂrianr‘7

(A) Mandalgarh (B) Gagron
() Kumbhalgarh (D) Alwar
TS H 9T fener W el orafierw 7
(A) HisETe (B) I

©) Wﬂa (D) 3T

The }gighest temperature recorded at in
20" century of the following. '
(A) € hyru (B) Dhaulpur

(C) Alwar (D) Phalodi

freifera % & 209 srersd ¥ warifrs aroa

¥ aifthey. fomr e
(B) Hgx

A) I§.
©) W (D) Wl

Identlfyj t;he incorrect pair of the district and the
mascot issued by Forest Department of Rajasthan
Government.

(A) Alwar - Tiger

3B) Bharatpur - Saras (Crane)

(O BE' wara - Peacock

mwmw%mﬁwmmgw
%Wwﬁmﬁm

(A) FET - 9

(B) ¥RAYX — RH (%)

(C) drarer - =@

(D) SR — W,

[ Contd...
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(B) memﬁ%w

o e T T € -
(A) gafeE framad
(B) 7T WRES

(C) TFTE wehdl

(D) TEE

is the first coal based Elecmmty Generating
Thermal Power Plant in Rajasthan
(A) Ramgarh Gas Thermal Power Station
(B) Suratgarh Super Critical Thermal Power Station
(C) Kota Super Thermal Power ‘Station
(D) Chhabra Super Critical T hermal Power Project

ORI § B e e e SR ande

[EECEGRE =
(A) e fw arde faga s 0

(C) BT oL A g &5
(D) mgﬂmwﬁ‘gﬁm

qEer O SuEer o § o
(A) Tz (B) Fwrrd
(C) SrErEr (D) TaTERl

Krishna Kumari was the princess; of which state?
(A) Marwar (B) Mewar
(C) Jaipur D) Blkaner
Fon HATY fEe T B TegErd A ?
(A) IS (B) "
() sEgY (D) hTTE

‘Desert Festival® is an important event in which tourist
circuit?

(A) Vagad

(B) Merwara - Marwar
(C) Desert

(D) Godwar

q% Mewwd’ fhe wdeT |ithe @ q%“@{v‘r HRIT & ?
(A) darE

(B) HTETST-HIETE
(C) =&

(D) Tgar

Which one of the following is a 'Rabi' crop?
(A) Jute (B) Wheat

(C) Bajara (D) Groundnut
frfafe § § ®F @ W waw &7

(A) 2 B) 7

3%

49

41

42

43

(C) I (D) HoHAT

@

In which place the Samadhi was given to Daduji's
dead body?

(A) Samadhi Sambhar

(B) Narayana Phulera

(C) Dadukhol Bherana

(D) Dadusamadhi Khedapa

Telt & wiidE oTiT @t few wm aT wmy & 7

(A) TETY AT
(B) T GO
(C) TIg@@ HRT
(D) gty ESTa

Which soil is known for ‘self tillage’?
(A) Red-sandy (B) Brown-sandy
(Cy Black (D) Alluvial

B W T wmwE & R ST o ¥ 7
(A) WA (B) O
(C) wra (D) BT

According to Economic Review 2021-22 of
Rajasthan, how many people were employed in the
organized sector {Public and Private) establishments
in the state till September, 20217

(A) 14.05 Lakh (B) 14.11 Lakh

(C) 13.92 Lakh (D) 14.08 Lakh
TrSTeT et anfes Tea 2021-22 % FTAR ey,
2021 T T ¥ gefed & (et ud Fel) &

el § Reew @ o Frafsa fear e
(A) 14.05 wr@ (B) 14.11 @@
(C) 13.92 @@ (D) 14.08 @@

The objective of which project is to monitor the
basic facilities at the village level?

(A) PM. Ujjawala Yojana

(B) CS.IS.

(C) eGramSwaraj

(D) Swamitva Yojana

T afaioTeT et Sea T WY A e g
B TFETET B T 7

(A) drum. SoorEEn diel

(B) ¥.UY.E.TY.

(C) T-UHES

(D) TEfg AT

if a primary school has a total number of 85 students
enrolled, then how many teachers have to be provided
by the Government in that school?

o we Tt foemea ¥ pa 85 frendl mifea €,
T GBI BT B9 fommere & Rear oreanash! & wiga

ug B ?
(A) 2 B) 3
(C) 4 ) 5

[ Contd...
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In the government schools of Rajasthan, under
Mukhyamantri Bal Gopal Yojana, milk is distributed
to the -

(A) Students of class 15t to 9th

(B) Students of class 5% to 10t

(C) Students of class 15t to 8t

(D) Students of class 5T to 8t

T % weeTd faenwdl § wew WS T
e % Tea gy e R S ¥ -

(A) T | & oFf % o iRy

(B) wem 59 109 @ & Rrenfy e

(€) wen 19 & o % T o

(D) ®ar 5 ¥ 8l o & frenf¥y =

According to the provisions of Rajasthan RTE Rules

2011 which of the following informations are not

necessary in the School Development Plan?

(A) Estimates of class-wise enrollment

(B) Requirement of the number of additional
teachers

(C) Year-wise additional financial requirement

(D} Record of Bank Accounts

TSR RTE P 2011 & TEemy & rgart e

fresrer wier & e o @ R gaenell @1 SN anases

TP

(A) B ATHGT YTerhe

(B) wrfafea el @ sEshar e de

(C) avEr arfaivaa o eesgesar

(D) ¥& @l % e

Mukhyamantri Chiranjeevi Swasthaya Beema Yojana
was made available from -

(A) 1t April, 2022

(B) 1t April, 2021

(C) 15 May, 2021

(D) 1St May, 2022

g = Rt e e e @y -
(A) 1 a0, 2022 9

(B) 1 aordw, 2021 &

(C) 178, 20219

(D) 178, 20229

What amount of subsidized loan (up to) is provided
for the establishment of new enterprises under the
Mukhyamantri Laghu Udyog Protsahan Yojana?
(A) T 10 Crore (By ¥ 7 Crore

(C) ¥ 5 Crore (D) T2 Crore

e w5 WY AP TR e & oo qae
TEE BT IO vy Ree T a9 w1 arEitia e
SUFRE HLETT A F 7
(A) T 10 &0

(©) T5&0E

B) T7a0s
(D) T2 &l

P5] @ 6

48

49

56

51

The scheme, in which the Government of Rajasthan
has made provision of assistance up to Rs. 2 lac in
case of an accident while doing agricultural work,
is-

(A) National Rural Livelihood Mission

(B) Mukhyamantri Rajshri Yojana

(C) Rajiv Gandhi Krishak Sathi Sahayata Yojana
(D) Krishak Suraksha Yojana

g, fres TR SR JT eitve el B
T U BN UT 2 AT BUY wen o) Gaaal @l
T feun T ¥, 48 % -

(&) TER T e R

(B) ge =l S AT

(C) TSI el puew Wl g drer

(D) Pu&H Y& AT

The nodal department of “Jagriti : back to work”

scheme is —

(A) Department of Social Justice and Empowerment
(B) Department of Higher Education

(C) Department of Elementary Education

(D) Directorate of Women Empowerment

“TAIRT S T 9% AT 6 Aed fwe -
(A) wmiies =g ud arfyear R

(B) s= e fawm

(C) writyes e faumr

(D) wfemn aftreicar FrRme

indira Gandhi Urban Employment Guarantee Scheme
was started from -

(A) 19t September, 2022

(B) 29th September, 2022

(C) 9™ September, 2022

(D) 7t September, 2022

e W Ry TSR T Ao ¥ Ui
g% A

(A) 19 faasy, 2022

(B) 29 faamy, 2022

(C) o faaw=, 2022

(D) 7 faaw, 2022

Non-verbal communication does not include -
(A) Gestures -

(B) Eye contact

(C) Words

(D) Movement of hands

r-ifges o § onfthe wEF & -

(A) IEYE

(B) i@l ¥ |

©) =

(D) & &I W&

[ Contd...
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Kesar Bagh Wildlife Region is situated in
(A) Bhilwara (B} Banswara
(C) Udaipur () Dhaulpur
HaT I TEeE &y Raw ¥ -

(A) wreEEt § (B) wigawe
(C) SEaR ¥ (D) gyt ¥

Bagore Sahib is a historical gurudwara where
Sri Guru Gobind singhji stayed during his visit to
Punjab, it is located in -

(A) Bhilwara

(B) Hanumangarh

(C) Jhunjhunu

(D) Bikaner

Tl wfe e Yfeles Toara 5, wEl 4 e e
g < eroell dome o % wvy O 9, 98 Rua ¥ -
(A) Hraret

(B) &G H

© gg1

(D) ST H

During the Kumbhalgarh Mahotsav - 2022, which
instrument was played by Pandit Vishva Mohan
Bhatt?

(A) Quitar

(B) Mohanveena

(C) Tabla

(D) Flute

FEG Haled — 2022 % S0 UvSq [A9aHET 9g
¥ 2 & TR & 6

(&) fer @

(B) HETEO @

(C) T @

(D) agl ol

Which chapter of RTE Act, 2009 explains the
responsibilities of schools and teachers?
(A) Chapter | (B) Chapter I
(C) Chapter I (D) Chapter 1V
frem @1 et sfufas, 2009 & fra orema

foEmerm ud e & feerd @ 9o %7
(A) o | (B) e 1l
(€) o (D) T 1V

The number of Krishivigyan Kendras in Rajasthan
are -

T ¥ fee iy fagmm ww €7
(A) 28 (B) 34
(C) 42 (D) 45

P51 @
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eSanjesvani is associated with -
(A) Teleschooling

(B) Teleconsultation

(C) Online Document Verification
(D) Tele X-Ray

{-oele giug ¥ -

(&) ErEpRET

(B) THIHHAEIT

(C) SIS SIRHE TLREBI
(D) & T

Who among the following was conferred with the
Guru Vashisth Award 2017-18 in the field of
"Rollball"?

(A) Rajesh Kumar Tailor

(B) Mahesh Kumar Ranga

(C) Ramesh Singh

(D) Ramdev Sharma

frefefen & @ 5 weta & &9 F o AR
Q@R 2017-18 e feman wwn ?

(A) T GHR T

(B) w&ST AR W

(C) Wy ¥

(D) T=eE el

Which city is named as ‘City of Granite’?
(A) Nagaure (B) Jhalawar

(C) Jalore (D) Ajmer
form o W IEE BT IRT W § 7
(A) AR (B) S
(C) W (D) SWFR

According to section 27 of the RTE Act, 2009,
no teacher shall be deployed in which of the
following act?

(A) Decennial census

(B) Election Duties

(C) Disaster Relief Duties

(I3) Pulse-Polio Campaign

RTE aifufas, 2009 &7 a1 27 % erar fas &0
Frer & @ few ot ® € @A o ?

(A) 79 U SOET

(B) gIE w1

(C) wwEr Tew

(D) o9 el AT

[ Contd...
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Operation Khushi in Rajasthan, which was recently
in the news is related to which one of the following?
(A) Girlehild education

(B) Including milk in mid day meal

(C) Providing employment to widows

(D) Uniting missing children with families

o ¥ sfoier geh, Stoew & ¥ med ¥ o,
i & & g @ wwbea 87

(A) wifwesr fren

(B) fre's A ¥ gy W P FHE

(C) Tau&mali & VT IUTEE ST

(D) ETERW Tl & giE ¥ fer

The name of the educational satellite through which
educatienal programs are promoted in entire India
is:

(A) Eduset (B) Dataset

(C) Compuset (D) Valueset

R Qs emmge 20 U A # Qe sriwa) &
(A) TR (B) e

© awmfgéz (D) IFgEe

After mdependence the Rajasthan Panchayat Act was
enacted in which year?
T % e et e sfufrm few o
¥ arfufaia et Tt e ?

(A) 1959 (B) 1953

© 1956 (D) 1994

Who ga\/e the POSDCORB management formula?
(A) Henri Fayol

(B) Luther Gulick and Urvik

(C) George R. Terry

(D) R. €. Davis

UEegs %1 POSDCORB &1 g3 fpe fan ?

(A) T B A

(B) o s wd Sfdw
(C) W e, <O 7

Siddharth Chaudhary who participated in the
Asian Youth Athletics 2022, is associated with which
athletic’ gvent?

(A) Shot Put

(B) 100 meter race

(C) Long jump

(D) High jump

TRyrTE gan weafeaE 2022 ﬁwmaﬁmﬁﬁq@ei
ety P wRfs s9 § o ¥

(A) T e (gife 92)

(B) 100 ®WrzY <

(©) = T

(D) S %2

Read the following passage and answer the question nos.
66 and 67 :

['worked for a brief while in a college in Delhi, and

among my more uncomfortable memories is a language
exercise, | gave a group of eight undergraduates: | asked
them to imagine that they had already graduated and
wanted them to write an application for a suitable job.
Seven of the eight students wrote applications for the jobs
of clerks. Even in one of the good universities, and in a
college that had a reputation for its academic standards,
the system had snuffed out all youthful ambition.

Even the highest youthful ambition in the prestigious

colleges is to pass the competitive examination for
appointments in the administrative services, and there are
colleges that are more proud of the bureaucrats among
their alumni than of any scholars, scientists or leaders of
opinion. And these latter, understandably, are a small
number. Students derive the meanness of their ambitions
from the meanness of the goals that the colleges propose
to themselves. And of the most ambitious, as well as of
the least, among the students, it could be said thai they
think more of what society will do /0 or for them, than of
what they would be able to do for and 1o society. This is
an excellent apprenticeship for joining the ranks of
hirelings or of the unemployed.

66

67

- 68

69

What according to the writer is the highest youthful
ambition in the best colleges?

(A) to become a scholar

(B) to become a scientist

(C) to become doctors and engineers

(D) to become a bureaucrat

Snuffed out means :
(A) encouraged
(C) killed

(B) wurged
(D) instilled

Choose the correct form of the verb in brackets from
the, options that follow :

I (meet) him yesterday.

(A) met

(B) have met

(C) would meet

(D) might meet

Choose the correct option.

Which one of the following is a feature of an Ode?
(A) sarcastic style

(B) comic style

(C) elevated style

(D) epic technique
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Choose the correct anfonym of the given word from
the options that follow :

Calm

(A) tranquil

(C) unperturbed

(B) serene
(D) disturbed

Choose the correct meaning of "Strike while the iron
is hot" from the given options :

(A) to be ready to fight

(B) to take advantage of an opportunity as soon as
it exists

(C) to hit at someone

(D) to respond angrily

Choose the cofrect modal to fillin the blank :

He not enter my house again. (Command)
(A) will (B) would

(C) can

(D) shall

In the sentence given below, the underlined phrasal
verb means :

You should allow for delays when planning a journey.
(A) exclude something in a plan or calculation
(B) include something in a plan or calculation
(C) to make a mathematical total

(D) withdraw your plans and proposals

Choose the correct assertive form of the given
sentence from the options that follow :

What a fool you are!

(A) You are foolish.

{(B) None but you are a fool.
(C) You are a great fool.

(D) You are more or less a fool.

Choose the correct phonetic transcription of the given
word from the options that follow :

apple
(A) | '=pl | (B) | ebpal |
(C) [elpl | (D) |apl|

The synonym of the word ‘confess’ is —
(A) refuse (B) decline
(C) admit (D) deny

77

78

79

86

81

82

Read the passage carefully and answer the guestion
that follow : .

We all want to live well, and when it is time,
die well too. This is the essence of most human
asplratlons within this, much, if not most, of human
endeavour is dedicated to living well and the outcome
reflects it. Humans have achieved much in terms of
liviig well. We have managed to acquire more
comfort and convenience than any other generation
in the past. However, when it comes to dying well,
it cannot be said that we die in any way better than
our ancestors.

Q. All human efforts aréﬂ dedicated to -
(AY-living well (B) dying well
< trave]ling (D) expioring

Fill i m the blank with the correct option
Her fafther accompanied by all her uncles
late.

Ay Were

(C} have been

(B) was
(D) have arrived -

Choose the correct form of indirect narratmn for the
given sentence :

He said, "l am a student”.

(A) He says that he is a student.
(B)He said that he was a student.

- (C) -He said that he is a student.

(D} _He says that he was a student.

Fill in the blank with the correct option :
Bréad' and butter good for health.
(A)..is (B) are

(C) . were (D) have been

Choose the appropriate modal as per the concept in
bracket to fill in the blank.

I e be sixteen on Monday. {Simple futurlty)
(A) can (B) sheuld,

(C) ought to (D) shall

fdentify the noun clause in the following sentence:
That you have come, pleases me.

(A) -you have come

(B) that you have come

(C) pleases me

(D) you have come pleases me

Choose the correct indirect speech of the given
sentence from the options that follow :

He said to me, "How is your mother?"

(A) He asked me how my mother is.

(B) He said to me how your mother was.

(C) He asked me how my mother was.

(D) He asked me how was my mother.
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"The sun smiled down on the flowers and the light
danced on them" is an example of :

(A) oxymoron (B) irony

(C) personification (D) sarcasm

Choose the correct passive voice of the given
sentence from the options that follow :

Does she speak English?

(A) Was English spoken by her?

(B) Has English been spoken by her?

(C) Is English spoken by her?

(D) Had English been spoken by her?

Read the following poem and answer the question

that follows it :

When God at first made Man,

Having a glass of blessings standing by;

Let us (said He) pour on him all we can:

Let the world's riches, which dispersed lie,
Contract into a span.

So strength first made a way;
Then beauty flow'd, then wisdom, honour, pleasure:
When almost all was out, God made a stay,
Perceiving that alone, of all His freasure,

Rest in the bottom lay.

For if 1 should (said He)
Bestow this jewel also on my creature,
He would adore my gifis instead of me,
And rest in Nature, not the God of Nature:
So both should losers be,

Yet let him keep the rest,
But keep them with repining restlessness:
Let him be rich and weary, that at least,
If goodness lead him not, yet weariness
May toss him to my breast.

Q.  What did God pour on man?
(A) Curses (B) Problems
(C) Blessings (D) Rest

Choose the correct option for the following incorrect
sentence.

If it rains, T would not go to the park.

(A) I was not going to the park if it rains,

(B) I would not be going to the park if it rains,
(€) 1 should not go to the park if it rains, '
(D) If it rains, 1 will not go to the park.

Identify the proper noun in the following sentence | 94

from the options given below.
Jaysingh was a brave king.

(A) Jaysingh - (B) brave
(©) was (D) king

I @ 10

%0

91

89 Choose the correct option to fill in the blank -
He cut the apple - a knife.
(A) with (B) by
(C) through (D) in

options, for the given sentence -

T 'was invited to the party by him.

(A) He invited me to the party.

(B) He invited me to g0 to the party,
(€) Tamtold 1o g0 to the party.

(D) I was instructed to g0 to the party.

given phrase :

A person who thinks of oniy himself.
(A) Egoist (B} Proud
(C) Eccentric (D) Boaster

92  Read the poem carefully and answer the question

that follow :
Freedom is the right to do
Anything that pleases you
As long as you keep in sight
the others also have a right
Have you the right to kill a cat?
Oh nol it is wrong, just consider that
The cat has the right to live like you
S0 remember that it is certainly wrong
to deprive a nightingale its song
to cheat the poor people, as rich men do
to rob the innocent, as robbers do

Q. What is freedom?

(A) the right to break law

(B) the right to do as one pleases
(C) the right to violate any rule
(B) to cheat

Change the following sentence into active voice from

the options given below -

He was accused of theft,

(A) People accuse him of theft.
(B) People accused him of theft.
(C) Theft accused to him.

(D) People accused of theft.,

word, choosing from the options that follow :
it rained heavily.
(A) Adverb

(C) Preposition

(B) Adjective
(D) Verb
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Choose the correct form of active voice from the

Choose the correct one-word substitution for the

Identify the correct part of speech of the underlined

a5

96

97

98

99

Choose the correct word that matches the given | 106
phonetic transcription from the options that follow:
/kaTld/
(A) cold

(C) called

(B) culled
(D) cooled

Choose the correct direct speech of the given sentence | 191
from the options that follow :

She says that Tom is a docior.

(A) She said, "Tom is a doctor".
(B) She says, "Tom was a doctor".
(C) She said, "Tom was a doctor".
(D) She says, "Tom is a doctor”.

Choose the correct one-word substitution for the 162
following :

A story, poem, or picture that can be interpreted to
reveal a hidden meaning, typically a moral or political
one.

(A) Farce

(C) Mock-epic

(B) Allegory
(D) Satire

Choose a verb in agreement with its subject in the
following sentence :

Politics ____ with him the business of his life.
(A) were (B) was

(C) have been (D) has

Answer the question on the basis of your reading of
the poem :
I felt a Funeral, in my Brain,
And Mourners to and fro 104
Kept treading - treading - till it seemed
That Sense was breaking through -
And when they all were seated,
A Service, like a Drum -
Kept beating - beating - till 1 thought
My mind was going numb -
And then I heard them lift a Box
And creak across my Soul 105
With those same Roots of Lead, again,
Then Space - began to toll,
As all the Heavens were a Bell,
And Being, but an Ear,
And I, and Silence, some sirange Race,
Wrecked, solitary, here -
And then a Plank in Reason, broke,

And I dropped down, and down - 106

Q. Identify the figure of speech in the line :
"Then space - began to toll".

{A) Metaphor

(B) Alliteration

(C) Personification

(D) Satire

P5] @ 11

Choose the correct synonym of the given word from
the options that follow :

Reckless

(A) concerned
(C) careless

(B) cautious
(D) punctual

Choose the correct active voice of the given sentence
from the options that follow :

The man wasn't given money by her.

(A) She hadn't given money to the man.

(B) Money wasn't given to man by her.

(C) She isn't giving money to man.

(D) She didn't give money to the man.

Choose the correct phrasal verb for the underlined
word from the options that follow :

The Chief guest distributed the prizes.

(A) gave in

(B) gave out

(C) gave over

(D) gave away

Identify the correct form of tense in the underlined
part of the given sentence :

When I arrived, Tom was talking on the phone.
(A) Past continuous

(B) Past perfect

(C) Present continuous

(D) Present perfect continuous

Choose the correct tense of the verb in bracket from
the options that follow :

You (pass) the exam, if you had studied hard.

(A) will have passed

(B) had passed

(C) shall have passed

(D) would have passed

Choose the correct answer from the given options to
identify the underlined part of the sentence :

Il do it when I please.

(A) Adjective Clause

(B) Adverb Clause

(C) NWoun Clause

(D) Prepositional Phrase

Choose the correct option :

Which one of the following is not a feature of the
Sonnet?

(A) It has fourteen lines.

(B) It is never written in iambic pentameter.

(C) Itis a lyric poem.

(D) It may have an octave and sestet.
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Choose the correct exclamatory form of the given
sentence from the options that follew :

It is very sad that poor Bimla is dead.

{(A) Ho ! Ho ! poor Bimla is dedd.:

(B) Hurrah, poor Bimla is dead.:

(C) Wow, Bimla is dead.

(D) Alas, poor Bimla is dead.

Fill in the blank with the correct optlon
Not one of the lectures ‘
(A) is

(C) were

(B) are
(D) have-been

Choose the correct option to fill in-the blank :
An amendment has been made .7 the bill.
(A) for (B) on
(€) in (D) to

Fill in the blank with the correct op’uon

Stop . Tell me what re“ctlly happened.
(A) beating in the bush :

(B) beating round the bush

(C) beating about the bush

(D) beating around the bush

Fill in the blank with the correct form of the verb
given in bracket.

Choose from the options that folEoW
It's time you  (go) to bedy«
(A) have gone (B) had. gone
(C) went (D) are g@mg

Choose the correct tense of the verb m bracket from
the options that follow :

If I were you, I (buy) a car.

(A) will buy (B) should buy

{C) bought (D) shalt- buy

Choose the correct compound f n of the given
sentence from the options that fqllew :
Seeing a bear coming, he lay on thy
(A) Seeing a bear coming and 'SQ' he lay on the
ground.

(B) He was lying on the ground as he saw the bear.
(C) He saw a bear and lay on the ground.

(D) The bear having come, he lay on the ground.

Choose the correct modal auxiliary.

You pay a little more attention to your
appearaneé. (To express a degree of dissatisfaction
and reproach)
(A) would
(C) may

(B) can
(D) might

115

iis
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Choose the correct phrasal verb to fiil in the bank:
We must expenses, or we'll be getting
into debt.

(A) cut upon (B) cutin

(C) cut down (D) cut off

Choose the correct option to fill in the blank :
What is the time your watch?

(A) in (B) by

(C) on (D) over

Choose the correct option for the given phonetic
transcription from the options that follow :

/sit/

(A) she

(B) only see

(C) both see and sea

(D) only sea

Choose the correct option to replace the underlined
part of the sentence from the given options :
Glass is hard but easily broken.

(A) delicate (B) soft

(C) transparent (D) brittle

Choose the correct antonym of the given word from
the options that follow :

Criticise

(A) commend
(C) condemn

(B) blame
(D) censure

Choose the correct direct speech of the given sentence
from the options that follow :

The teacher said that oil floats on water.

(A) The teacher said, "Oil floats on water".

(B) The teacher says, "Oi! floats on water."

(C) The teacher said, "Oil floated on water".

(D) The teacher says, "Oil floated on water".

Choose the correct part of speech of the underlined
word of the following sentence from the options
given below :

They arrived soon after.
(A) Preposition

(C) Adverb

(B) Conjunction
(D) Adjective

Choose the correct answer from the given options to
identify the underlined part of the sentence :
Where he lives is not known.

(A) adjective clause

(B) noun clause

(C) adverb clause

(D) independent clause
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129 The major weakness of the 'C

123 Identify the underlined part of speech in the following
sentence

A thing of beauty is a joy forever.

(A) Noun (B) Adjective

(C) Adverb (D) Verb

124 Change the following sentence into active voice from
the options given below :

My pocket has been picked.

(A) Someone will have picked my pocket.

(B) 1 picked my pocket. 130

(C) Someone has picked my pocket.

(D) Someone had picked my pocket.

125 Choose the correct meaning of the given idiom from
the options that follow :

Turn a blind eve means to :

{A) refuse to acknowledge a known truth

(B) be open eyed

(C) see with naked eye

(D) be really blind

126 Which one of the following is not true of the Audio- 131
lingual method?

(A) Explicit grammar rules are provided.

(B) Not even a single word of student's native
language is used.

(C) Sometimes the teacher acts out of the dialogue.

(D) The teacher presents a dialogue which students
repeat and eventually memorize.

i27 Which of the following is not applicable of the

‘demerits of bilingual method'?

(A) If the teacher fails to understand this method,
there is a danger of making this method into
translation method.

(B) There is every chance to get confused while | 132
differentiating the features of the Ll and
foreign language.

(C) Learners may not rely more on their L;.

(D) The teacher must be fluent in L; and L, also.

128 Which one of the following principles not included

"The principles of Bilingual method?

(A) Meaning of new words, phrases, idioms, 133
sentences and grammatical rules is conveyed
through L, in the initial stage of the lesson.

(B) Pattern practice is given only in English.

(C) L; is used only by the teacher to explain
vocabulary and phrases.

(D) Ly is used only by the students to explain
vocabulary and phrases.

Ps] @ 13

ommunicative
Language Teaching’. (CLT).

(A) Pair and group work build learners confidence
and learning is interesting.

B)
©

Learners acquire fluency and accuracy.
Learners get sufficient opportunities to practice
language through tasks.

(D) Te

er's involvement in teaching is less.

Which ong is not included in the importance of CCE
(Contintioss Comprehensive Evaluation)?

(A) CCE'reduces stress and anxiety of children and
adelescent during the examination.

It reduces dropout rate as there will be less fear
andanxiety related to performance.

B)
(C) Léaners do not develop concept clarity.
o) lt:f@r‘omotes holistic development of the
pérsonality of learners.

Which one of the following is not true of
Communiicative Language Teaching (CLT)?

(A) The most important goal of CLT is to enable
théwleamers to communicate in the target
léﬁghage

T‘hls approach uses a text book to teach English
language

(B)
© Language learners in CLT learn and practice
Engl ish through interaction one another teacher.
(D) Learners talk about personal experiences with
peers and teachers teach topic which encourages

la‘thage skills related to various situation.

Which @f the following statement is correct with
regard to Audio-lingual method?

(A) Vgﬁgbulary first then grammar structures are
taught.

(B) First using examples then rules are taught.
©
D)

Egrors are not corrected immediately.
Teachers are the role models of language uses.

Which one of the following statement is not correct /
true with regard to Audio-lingual method?

(&)
(B)
©

Lgmgfuage is not for communication.
Language is learnt contextually.

Language is learnt using the natural order-
listening, speaking, reading and writing.

(D) Repetition and drilling are common as language
learning is a part of the habit statement.
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134 Which one of the following is not the type of tests?
(A) Aptitude test
(B) Attitude test
(C) Proficiency test
(D) Achievement test

135 Who has introduced the CCE (Continous
Comprehensive Evaluation) system?
(A) CBSE (Central Board of Secondary Education)
(8) NCTE (National Council of Teacher Education)
(C) RBSE (Rajasthan Board of Secondary

Education)

(D) UGC (University Grants Commission)

136 "Law of one trail learning” is related to -
(A) Edwin Ray Guthrie
(B) Clark L. Hull
(C) B. F. Skinner
(D) Albert Bandura
‘e gaTg ST @ fe wwEle ¥ -
(A) Tehm Tl |
(B) &% TH. '@ W
(C) . T%. @ET Y
(D) T o

137 As per Howard Gardner's theory of multiple
intelligence, how would the intelligence of a person
with the following characteristics be categorized?
Characteristics :
"Ability to detect and respond appropriately to the
moods, temperaments, motivations and intentions of
others".
(A) Intrapersonal (B) Interpersonal
(C) Therapeutic (D) Naturalistic
fagroamett & g ww =Rm @ ghe @ g e d
Tt fomem =1 wear § 7
farstward :
“ZEdl W wEEe, W, JXon Jen st @ sk
ToH § T wE v gfahear s e dan
(A) STt (B) Simaaieas
(C) et (D) uphmar:

138 Programmed learning is based on —
(A) Operant conditioning
(B) Field theory
(C) Gestalt learning
(D) Classical conditioning
iyt et Frafafaa & @ feg ue smenf@ 37
(A) Ty srgaem
(B) & fgia
(C) i At
(D) T AT
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A teacher makes use of variety of tasks to cater to
the different styles of her learners. She is influenced
by —

(A) Kohlberg's moral development theory

(B) Gardner's multiple intelligence theory

(C) Wygotsky's socio-cultural theory

(D) Piaget's cognitive development theory

we Pl ogw Rt & Refyrer arfterr St
Y G B & W Azl wr @ Suan s
Tlae ¥ gaifaw ¥

(A) wrewed & IR few & R

(B) TR % ¥g ghe REr

(C) argvircaes & wries-aiepias Rar

(D) Ty & demeTere et % e

"Environment covers all the outside factors that have
acted on the individual since he began life." This
statemnent is given by —

(A) James Drever

(B) Woodworth

(C) Douglas-Holland

(D) Ruth Bendict

AT W § T G a I T & el sl
&1 SHEH SR B % TAg § wwiea fear B0 @
BT & -

(A) ST ST @1

(B) gsad @i

(C) TTEE-@UE &l

(D) &y FAfsa2 &1

Which one is not secondary reinforcer?

(A) Food (B) Praise

(C) Grades (D) Money
frafefed ¥ ¥ & @ fide Tawe T8 7
(A) W= (B) wetan

(©) il (D) &

The ability to come up with original and divergent
solutions to a problem is a primary characteristic of—-
(A) Backward child

(B) Creative child

(C) Egocentric child

(D) Mentally retarded child

fordt Tmen & qw oY e o TYE! & €y
3 Bl &9l Th &1 wrerfes fashear ¥
(A) Rss s

(B) {SHITHs §I6H

(C) STl STeTch

(D) e Hfed e
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What was the age group prescribed by 'Bellock’ in
his children apperception test to measure the
personality?

(A) 3 to 10 years

(B) 0 to 2 years

(C) 11 to 14 years

(D) 15 1o 18 years

e ¥ el o % Rig ST feT TR STt
& yerEry uleer ¥g W g e e ar?

(A) 39 10 a9

(B) 0§29

(©) 119 14 w9

(D) 15 ¢ 18 o

Law of readiness, law of exercise and law of effect
are related to which of the following learning theory?
(A) Trial and Error

(B) Classical Conditioning

(C) Social Learning

(D) Signal Learning

TRITET B PR, S o fraw T gee @ e
Frefefes & ¥ Rew arftrm Toafa ¥ wwdift ¥ 7
(A) TamE g F

(B) ST STEEH

(C) wmTEs ST

(D) dHa s

"PASS" model of intelligence was elaborated in the
year 1994 by —

(A) All of these

(B) Jack Naglieri

(C) Kirby

(D) J.P. Das

T 1994 % ghg &1 U (PASS) Aisw @1 fregdie
e e ?

(A) T ad

(B) S& Frm@

© fodi

(D) w41 T

By default, on which page the header or footer is
printed?

(A) First page only

(B) Last page only

(C) On alternative pages only

(D) On every page

e 9 T w9 S ¥ST AT g e B ¥ 7
(A) HEA YT Y& IT

(B) e i g8 IX

(C) waw THivus T8 TX

(D) T&EH TS YT

@ 15

147 Morris is an example of :
(A) Worm
(C) Trojan

(B) Spyware
(D) Firewall

Morris fret & Rewest Semewer ¥ 7
(A) = (B) wger
(©) zh (D) BRI
148 Pratyush Super Computer has _ speed.
TN U BT B R %
(A) 44 PF (B) 54 PF
(C) 6.8 PF (D) 7.5 PF

149 Services offered by USSD
1. M-Pin change
2. Generate OTP

3. Get cash

(A) 1 only (B) Tand2
(C) 2and?3 (B) 3 only

USSD g1 & S gl wEmg

1. M-Pin gg@T

2. OTP S &

3. 9T @

(A) I 1 (B) 1aft2
(C) 283 (D) %Hew 3

188 Which is the correct sequence?
(A) Wisdom — Knowledge — Information
—3 Data

(B) Data — Information —> Knowledge
— Wisdom

(C) Wwisdom — Information — Knowledge
—> Data

(B) Data — Wisdom — I[nformation
-3 Knowledge

B W T BH E7

(A) ReEg —» Wi — SBEIE —> S
(B) ¥ — THEIH — Amw — faaEe
(C) Ty — THEHIT — AT — 32
(D) ¥7 — Ty — THEIE — AT
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